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tan(5x) =0
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72.cos2x = 2cosx —1

2cos*x—| =2cosx — |
2cos'x = 2cos X
Cos'X =cosX
cos'X - cosx = O

Cosx <cos:<-b =0
Cosx=0O , COSx=|
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74.sin4x —cos2x =0
sn2(2?

2sin2x cosdx— coszZx =)
coslx (Qs'mZx - D =O
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78.cos2xcosx —SinZ2xsinx =0
Cos <2x +x) =0
c0s3x=
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82.cos3x +cosx =0
cas(ax-rx) +cosx = O

cosAx cosx = SINIXSINX +Osx = (O

g
Ccos‘x-sma cosx —(chosab SiNY +cosX = O
00s’x ~SIg XCOSX — RS A XCOIX +e03x = O
Cos>x —3sin'xcosx rcosx =0

08X - Bcosy <(-cos x) tcosX =)
cos’ > X ~3cosy +3cos®¢ +coSx = =0
4eos’) ~Qcosx = @)

2cosx <2<‘os"x - |> =0

84.2sinx cosx — 2v/2sinx —+v/3 cosx + V6 =0
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X
76. tanE =1 —cosx

Homework:

6.6 Handout #71-83 odd;

Examples #3,4,7,8 from solving equaons handout
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